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1/f Noise Using the Mathcad 15 onefn function:
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Double Entries??????
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Why 0 at n = 0??????
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Now construct a 1/f power spectrum (From Mathcad 15 Help "Noise Generators"):

As an experiment, we can try constructing a 1/f power spectrum, with random phases, and then

take the inverse transform to obtain the noise vector:

j 1 500..:= i 1−:=

Construct the first half of the transform.  A 1/f power spectrum corresponds to a 1/sqrt(f) magnitude

spectrum.
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1

j
⋅:= Note: Magnitude will be smooth because of 1/SQRT(j).
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For a real signal, the second half is conjugate-symmetric around the midpoint:

a
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a
j


:=

The noise has mean 0: mean a( ) 1.147− 10
3−

×= roughly = 0

Transform to the time domain: N Re icfft a( )( ):=

Range for plotting: k 0 1000..:=
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